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Instructions : (1) Draw diagrams wherever necessary.
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(2) Figures to the right indicate marks.

(3) Mention clearly the option you attempt.

Explain colourblindness in human being in detail.
OR

Write note on :

(1) Necessity for existence of life.

(2) Lamarckian theory of evolution.

Draw a neat labelled diagram of a typical dicot flowering plant of Vinca rosea
(Barmasi) showing its various parts and explain it.

OR
Write note on :
(1) Importance of transpiration
(2) Natural methods of vegetative reproduction in flowering plants

Write note on Virus.

OR
(1) Economic importance of cereals, earthworm and fish.
(2) Medicinal importance of ergot, penicillium and Tulsi.

Explain the external and internal structure of human eye with their vision
process in it.

OR
Write note on :
(1) External structure of heart
(2) Functions of blood
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5. (A) Choose and write correct option from those given below each question :

(B)

©

(1) Who is father of genetics ?
(a) Lamarck (b) Mendel
(c) Darwin (d) Miller
(2)  Which type of method of reproduction is cutting ?
(a) Budding (b) Natural vegetative reproduction
(c) Sexual reproduction (d) Artificial vegetative reproduction
(3) From which part root is developed in plants ?
(a) Radicle (b) Tap root
(c) Plumule (d) Axis
(4) How many chambers are there in human heart ?
(a) Three (b) Two
(c) Four (d) One
State whether the following statements are true or false :
(1) Ear is the vestigial organ of human.
(2) Maize seed contains only one cotyledon.
(3) Ginger is underground stem which becomes fleshy through storage of
food.
(4) Two pairs of salivary glands are there in human.
Fill in the blanks choosing correct word :
(1) Haemophilia is an example of inheritance.
(sex linked, sex influenced, holendrick)
(2) performed experiment to create a primitive probable atmosphere
like that of earth in the laboratory. (Darwin, Lamarck, Miller)
(3) Generally of plant is present underground. (Leaf, root, stem)
(D) Match the appropriate pair :
(A) (B)
(1) Radish (a) Phaseolus mungo
(2) Moong (b) Food storage stem
(3) Potato (c) Food storage root
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